Quantitation Report (LSC Reviewed)

Data Path : Z:\VOASRV\HPCHEMI\MSVOA X\DATA\VX031620\

Data File : VX015298.D

Aca On - 16 Mar 2020 16:43

Operator : JC/SP

sample - 1L1945-02

Misc - 5.0mL/MSVOA X/WATER o e 2
ALS Vial : 18 Sample Multiplier: 1

Quant Time: Mar 17 08:34:50 2020

Quant Method : Z:\VOASRV\HPCHEM1\MSVOA_X\METHOD\82X030420W .M
Quant Title : SW846 8260

OLast Update : Wed Mar 04 14:19:10 2020

Response via : Initial Calibration

Internal Standards R.T. Qlon Response Conc Units Dev(Min)
1) Pentafluorobenzene 5.65 168 331061 50.00 ua/l 0.00
34) 1.,4-Difluorobenzene 6.86 114 543183 50.00 ug/l 0.00
63) Chlorobenzene-d5 10.11 117 523476 50.00 ug/l 0.00
72) 1,4-Dichlorobenzene-d4 12.07 152 263401 50.00 ug/I1 0.00
Svstem Monitorina Compounds
33) 1.2-Dichloroethane-d4 6.06 65 196437 50.01 ua/l 0.00
Spiked Amount 50.000 Recoverv = 100.02%
35) Dibromofluoromethane 5.49 113 166522 48.59 ua/l 0.00
Spiked Amount 50.000 Recoverv = 97.18%
50) Toluene-d8 8.71 98 635649 48.76 ua/l 0.00
Spiked Amount 50.000 Recoverv = 97 .52%
62) 4-Bromofluorobenzene 11.13 95 242246 52.10 ua/l 0.00
Spiked Amount 50.000 Recovery = 104.20%
Target Compounds Qvalue
9) 1.1.2-Trichlorotrifluoroet 2.38 101 3407 1.093 uag/l 87
44) Trichloroethene 7.21 130 187126 45.101 ua/1l 96
64) Tetrachloroethene 9.33 164 11693 2.702 ua/l 96

(#) = qualifier out of range (m) = manual integration (+) = signals summed
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Z:\VOASRV\HPCHEM1\MSVOA X\DATA\VX031620\

VX015298.D

16 Mar 2020 16:43

JC/SP

L1945-02

5.0mL/MSVOA X/WATER

18 Sample Multiplier: 1

Mar 17 08:34:50 2020

= Z:\VOASRV\HPCHEM1\MSVOA_X\METHOD\82X030420W_.M
SW846 8260
Wed Mar 04 14:19:10 2020
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Response via Initial Calibration
Abundance TIC: VX015298.D
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